


@ f} Circle with center at origin (0, 0)
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A circle is centered at the origin or point (0, 0) and has radius r units as

shown in Figure 6.4




&) ) Figure 6.4 Let P(x, y) be any point on the

circumference of a circle.
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The equation of a circle with center at the origin (0, 0) and radius of length r
units is:

X2 + y2 = r2




A circle centered at the point (h, k).

A circle with center at point (h, k) and radius r as shown.
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example
Write the equation of the circle where the center is (-3, 2)

m

and the radius is long.5 units in standard form

f

Il
ﬁ

AINEAT (x - h)2 +(y - k)2 : ‘\ g

\
/

2 2
x=-EB)+y -2 = 5 < e W2

aatiy aunenadluginsgu fe

(x + 3 +(y -2 = 25 ? ,
l

&




& ), Find the center and radius of the circle. 3
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n Find it by arranging the equation into the form of a standard equation of

a circle, which is
X—-h)* +(y —k)?

So the center is (h, k) and the radius is r.
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g Find it by arranging the equation in the form of a general

equation of a circle, which is
Xt y2+ Dx + Ey + F
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example 3

Find the center and radius of the circle whose equation is
x%+y% -12x + 16y +19=0
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We get (h, k) = (6, -8) and r = 9.That is, the center is (6,

-8) and the radius is 9 units long.
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